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Solving Systems of Linear Equations by Graphing
Practice and Problem Solving: A/B ‘

Solve each linear system by graphing. Check your answer. X ’lj :'L;
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5. Two skaters are racing toward the finish line
of a race. The first skater has a 40 meter
lead and is traveling at a rate of 12 meters_
per second. The second skater is traveling at
a rate of 14 meters per second. How long .
will it take for the second skater to pass the
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Sol\)ing Systems of Linear Equations by Graphing

Practice and Problem Solving: D
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Solve each linear system by graphing. Check your answer. The first
one is done for you.
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